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. The figures in the margin indicate full marks
for the questions.

Answer either in English or in Assamese.
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Answer question numbers 1, 2 and 3 and ény
four from the rest. '
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(i) If the mean of the series X, X,, ...., X, i5 X
what is the mean of the series
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down the relation between the two
. A and E. e 01
sﬁ HHET TOR WG T oy |
1
| licient of variation of two players A and
W o3 e 21 5% and 29.3% respectlvely I
* consistent than B ? Lol

WAWB—?@W@%@MZIS%
$ 293%1 A, B o& @ﬁ@m?

(i) Fill in the blank :
fer oi7 AR ¢

Cost of living index number measures th

change in price.

Totere! [T IPIRT
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(iii) Choose the correct answer :

a7 Teq FdeT T 2

iﬂ the blank : i I
#\t [T ¢

P ’ e independent variate values in interpolation
are termed as

A schedule is to b‘e filled up by the
a4 SPPH1 o€ T =W

(a) Respondent
Temrel

:WWW {%{m

(b) Interviewer

RIS

G an example of tnne series that exhibits . .
fluctuations. 1

mn '

(iv) Is the following relation true ? If not,
the correct form :

ﬁmm‘ﬂﬁﬁﬁm?ﬂﬁm@m
AM>=G.M<HM
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‘ e the Factor Reversal Test of Index
umber. 2
@n B RS ﬁwﬁﬁ T 1|

(1x) Choose the correct answer : ‘ 19
wg ey o 9 ¢ ‘

Which of the following is a unitlessf‘. -e the Geometric Mean of 0.3, 0.6, 2.4 and

B, 2

measure ? ! %
0.3, 0.6, 2.4 =IF 4.8-7 SUIET Mg Tfered!|

O IR WA PRI TeA? | ‘
Explain briefly why corresponding to two
correlated variables, there are two regression
e, 00 - 2
I TS beRIR AT A5A5 o et

I @ ColRl T, HALS G FA@
4 |

(a) Median (453)
(b) Standard deviation (7 RETF)
(c) Mean deviation (1% REe™)

(d) Coefficient of correlation

T Wt are the two broad ways of controlling
TS ¢ .

he quality of a product ? 2
m@cfﬂ—mﬁmqwzmam@m

(x) If A is an impossible event, what is the
~ probability of occurrence of the event A 7
L

£

any four parts of the following :
5x4=20

g aﬁéﬁﬂ‘WAﬂa‘aﬁE (RRICH! SFTSA 2T,
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¢ average Welght of 500 students of a
lain college is 1511bs and the standard
ation of weights is 15 1bs. Assuming that
seights are normally distributed, find the

2. (a) State two essential points to be noted whill

drafting a questxonnan‘e
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(b)

(c)
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probability that the weight of a student hes
between 119. 51bs and 153. 5 lbs.

Given,. Z =03, Area'= 01179
and Z =21, Area= 04821

A <4 SRR 500 T P TG ST
151 7T i (SEETI GG N {6 15
AITG | QT STIZ. AN T SR FCI

SIRIG] g €& 119.5 % 155.5 B

ATy fooge PR FSiel Ofredl |

z =03 =f=01179 | e oot
s Z =21 T =04821 | By =123
Discuss the relative advantages an‘d 1imitation s |

of sample survey and Census survey. 1 v ‘ ‘
W wdlcs-3 e Sferedt

quwﬁww«wvfﬁﬁﬁﬁ |l |

tical expectation. A random
i the following probability
8 2+3=5

Let x and y be two related variables fof
which 10 pairs of values are available. The ¢

variables are transformed to u and v by t 3 : i
following relatlons :
e B
2u=x-39 -
i Pt 6 6 ‘6
3ve=y-23
' : var (x)
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Explain the conéept of Type-1 error and
Type-II - error associated with Testing o
Statistical hypothesis. '
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i given to three

The followmg data give the number of vhose chances of solving

passengers travelled by Indian aviation ﬂlgh e ; (0 :
from Guwahati to Delhi from Monday to »-;\? Qe iively. What is the
Sunday in a particular week : 6  the problem will be solved,

‘ P
290 300 265 270 200 315 328 ependently 4
Calculate the mean and standard deviation I o% <O e PRIT AR

<51 FiffS AR CINARR +91 IR SR 'BWC-?FWMQIC_@Wv
gt fifTia WMo SRSl [N vevel el vﬁﬂmw@ﬁ—tmll

ﬁmwwm@awﬂn'mﬁmq’a | 23
290 300 265 270 200 315 32 ‘fﬁmmwmzﬁﬁacsﬁt
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6.

(a)

,wmwﬁﬁ@mwmw R

(b)

(@)

Fita stralght line trend to the txme series dat
given below and obtain the trend value for
the year 1977 :. : 6

(i) Fit a regression line of x on y and

estimate x when y = 9.5.

y-9 @RS x- FEE (79 [ 9 o
yI WA 9.5 AACE xI WA e
Sall

Tolfe SIIE T S 1977 579 Gomfos
Seredt 2

Year (@) ¢ 1974 1975 1976 1977 19785

Sales (Rs°000) : 35 56 79 80 40 ] h) Explain the different types of correlations
(#1000 BT8) | o ~ with suitable examples. 4 i

Write a brief note on the usefulness of inde
number 41

W@z’eﬁmﬁmm«ﬂﬁwcﬁmﬁw
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vaen below the bivariate data : 3+3*6 (1) What is interpolation ?

oo 5w e Fiml TR ¢ o R

By 2 6 TR i R Given that f(0) = 8, f(2) = 11, f(4) = 20 and

LR 2 1008 Wy B -~ ((6) = 41, find D).

() Fit a rogression line of y on x and i W £0) = 8, 2) = 11, £4) = 20 W
estimate y when x = 5.8. - ((6) = 41, 1) B <5 | ‘

X3 @5 y T @ R T @

xJ W 5.8 wnzvfms y3 pigi ﬁaavm w4l
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(b) Calculate Fisher’s price index number from

~ the data given below : : <
wETS A O SRl RO T S ool
B v, :
Commodity Price per unit Quantities
(Rs.) : (Quintal)
AT T A g3 (BIre) ARSI (FRTETS)
1973 1996 .. 1975 1990
A 6 1 A 1 B
B 2 2 186 . 120
i 4 6 60 .60
D e . 12 30 24
E (R 46 - %8
9. (a) Write short notes on : _ o
5 (OIR fe '
(i) Kurtosis
B SIS LAY
(ii) Limitations of statistics.
AP Remg M |

(b) Discuss the causes of variation in statistical
quality control.
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